< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

o
[N

o
N

..................................

.....................................

r TP P N A
- (L BI{RA18
[ ¥ :

100

w

2

3

TP n (PCA to beamline)

o
[N

< o cot(y) >
o
=
a1

........

o
N

........

.....

.................................

9_&2:| '

T X I

x gF |
0.8F

|
w

3
mline)

MKEIT_TToriginal
L

mkFit_TT p
mkFit_TT_pLW
mkFit TT pLW_IMP

T T T T[T TT[TTT
. 2

W

-2 -1 0 1 2

3

TP n (PCA to beamline)

1.05

I

0.95

LLLRN (LIS LU AL B

0.9

- 0 1 2

3

TP n (PCA to beamline)

100

<od,> (um)

IR I L LD LA UL UL I L

RatioI
IIIIIIIII}-III TTT

I

I

[T
I

N

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


